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Bt RMARAT HF_EMFH T, & det(A) = 3.
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C(L0) W f = a® 4+ 202 F g = 2% + 3 2 Qle] PIETR. HH quo(f, g, ),

vem(f, g, x) F1 h(A), 3sb h = fg, A —(f ‘01>.

. B HA quo(f,g,x) = 32+ 1, rem(f,g,2) = —3z — 3.
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I E TR I, uyus = (2120 + 3y110) + (21 + 2013 € F. 2R 1€ F. #%
F & R ®-F3F.

REGHIEF &%, BA V3IALEHK, it E s, yecQ u=a+yV/3#0
BHARY v Ry AFT 0. kit
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. (10497) W n € ZT, ag,aq,...,an,r ER Ha, #0. & (n+1) x (n+1) I %

a, —1 0 0 0

an-1 x* —1 0 0 O

an—o 0 z -1 0 O

Ay=1] ans 0 0 =z 0 0
aq 0 0 0 r —1

Qo o o 0 --- 0 =z
VL det(A,), FEEBM 2 THS KT, A, AT,

ao X

—1
fE: % n=18,det(A;) = det <a1 ) = a1 + ap.

Y n=2H,

a9 -1 0
det(Ay) =det |a; = —1| =ao+x(aex+a1) = asx® + a1 + ao.

a 0 =z

det(A,) = ap2™ + ap 2™t + -+ ag.
Yn=1Fn=2018 3wz &n>24H
det(A,_1) = ap12™ P+ -+ a1x + ao.
5t det(A,) # % — 1T BRI
det(A,) = a 2™ +det(A,_1) = anz™ + ap_ 12" "+ + a1z + ag.
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6. (10%)

(i) ZIHEIVERE (Z1o, +,0) HETE A B T3, HRHAEATR.
(i) & U 2 (Z1, +,0,-, 1) AR HTHIES. MEIERE (U, 1) &A%
PEIREE? TSP EE .

fE. (i) kB (Z1n,+,0) PTA LTR899 T 2L, —W 2 (0), =2 (6)
= WEE (4), WA (3), S EE (D), Fo Ly,
K Ly RAGFREE, MPERBRGY T RELRBIRE, Mt 120950 EF s, RA
— T S Fﬁ‘%%%’%’ Epi_tli%f‘??jﬁf‘; Zlg éﬁﬁﬁ;ﬁ_%%
(ii) B# U = {1,5,7,11}. %2R U RBFH, WU P H—-ANPLEZHNFT 4. 12
UPAEONERKRT 2. 3% U NG E.

7. (1063\) iﬁ A= (CLZ'J‘) S MH(Q), ;H\:EF[ a;; € Z, Z,] S {1,2, - ,n}. Eiﬁp 7\%%
B, w2 — L, TGS, FT A, = (7p(ai ) € M (Z,). UERH:

() my(det(4)) = det(4,),
(ii) rank(A) > rank(A,) B RAFAEHRZ DR E p, (15 rank(A) > rank(4,).

Y. (i) BH 1, RIFAA, A

mp(det(A)) =7, <Z €cl1,0(1) " " Gn,a(n)>

O’ESn

= Z €U7Tp(al,a(1)) T ﬂ-p(a"l’a(n))

UESn

= det(4,).

(ii) & r = rank(A). %e R r=n, WAFXBARRL. Kr<n W AFHEHE
KT rFTXABFTE & () For, RIABRES TS, A, PHHART r N8y
F XARF TR, ¥ rank(4,) <r.

EEEAGHAE r WAERT XARAER. KAFARSANAFH p EFLIL
FTREZ, PHRAEA) TLEEIRXALZILERTFANRAAETHE
BF. MEZIEFRIN A, PESHA—Ar B FXEE S TFTIHFGELH,
rank(A,) =r. O

8. (104%) ¥ F &k, 46fE A € Fon) H B, ARE m M 8467 5 65, I
H400 JL8IT
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(i) rank(A) = m HHANEFERERE B € F7" 13 AB = E,;
(ii) rank(A) = m Mm < n H BCEFERER B, C € F™m fiif3

AB=E,,, AC=E,, #H B+#C.

WA, (1) X AB=E,,. M rank(A)>m. BA A A% m 4T, PT VA rank(A)=m.

BRZ,&rank(A) =m. FEFTHRMAx =¢;, £F,x=(v1,...,7,)", e & B,
WEIATIME, i =1,2,...,m. BA rank(A) =m, AT 1% (Ale;) %9
HBETm TR LRFTAEBAMD; = (bry,...,bni). & B=(by,...,b,).
U AB = (Aby,..., Aby) = Eyn.

(i) R ABAEFEE B, C e P A& 4%
AB=E,, AC=E,, # B#C.

M AB—-C)=0, LB —C%#Opxm. TA, FREETHEA Ax=0,, AIF
FFUME. 3 rank(A) <n. @ (i) T4, rank(A) = m. HLFEHE m<n.

B Z, % rank(A) =mAFam <n. WHAEA Ax =0, AIFE-FLEvVveF. &
(i) T4 BG4 B € F"*™ 444 AB = E,,. &

W C+#BHAC=AB=E,,. O

G, AERMBIEEFTRE AX = E,, EbPAFEE X ¢ Fm. ARIELTRE 5]
A& PeGL,(F)# Qe GL,(F) %1%

E. O
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HF r=rank(A). HERIEEGFZFNT
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(i) 4R B A&, N (1) A #&r=m. =X r=m, W (1) THK
Y,

Y,
a%“O)(1>::P% Y1 € M,,(F), Yy € Flnmmixm, (2)

#

R b M e plmmxm 2L E46% B B iE.

(ii) %2 X B ARG IESE B F» C 1845 AB = AC = E,,. WEEMBRY F&
HELEE M SRELE ¥Bm<n mrank(A) =m W () AEFE. X
rank(A) =m B m <n, WEEHEIE M LKREE T, (2)FEZY AR
REERMFWNIESE B, C, 13 AB=AC = E,,.

. (1043) W F 23, A,B,C,D € M,(F) H AC = CA. iEH:

A B
det < ) = det(AD — CB).
C D

JEBR. 2% A T, W)

E 0\ (A B\ A B cazac A B
—A'c EJ\c D] \-A'cA+c —-aA'¢B+D)  \Oo —A'cB+D/’

#

A B E O A B A B
det = det = det
C D —A7'C FE C D O —A'CB+D

= det(A) det(D — A7'CB) = det(AD — CB).
LEI AR L

FARTHE. At AF EHARA. MIE+Ac M (F(t) B det(tE+ A) &
XTt8¥nREZRAXN. K IE+ATE. & tE+A)C =C{HE+A) A= (i) T4,

daCE+Alj:ﬂmWE+MD—Cm.
c D
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A B
det =det(AD - CB). O
C D

i
(=2
A
H
oo
A



2022-2023F FMESFH AREXTE ALK

10.

(1043) % (GLa(R), -, E) /& B SRH0k I 2 x 2 (1] 3 i B2 DG T P SR vk A F 1)
. 4 SLy(R) = {A € GLy(R) | det(A) = 1}.

(i) BE: (SLy(R),-, E) /& GLy(R) FITHE.
(i) EBA: SLy(R) = (S), H S RFTA 2 x 2 M5 KM A

LR, (i) 3% A, B € SLy(R). B A det(B) =1, Ak det(B~1) =1. T&,
det(AB™") = det(A) det(B™') =1 = AB™! € SLy(R).

B F# AR LT 42, SLy(R) & GLy(R) #9-F #.

(i) EFEBNA2Xx2ME _EMF LRGN XAEFT 1. €NHL
SLy(R) ¥ 89L&, # (S) C SLy(R).

b
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C
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